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(A) (B) (A)-(B) (C) (D) (E) (D)-(E) (F)
[ 104,717 13,297 91,420 102,869 3,525 99,344
= F 13,100 7,954 5,146 9.720 3,369 6.351
X = 12,617 5,326 7,291 9,009 2,445 6.564
M E h 21,365 5,786 15,579 17.620 1,969 15,651
t & 14,935 5,956 8,979 11,403 1,382 10,021
A B 12,784 5.957 6.827 9,687 1,428 8,259
B £ 14,336 6.776 7,560 9.398 1,315 8,083
TiEFRKT 15,794 10,443 5,351 9,131 2.196 6.935
B+ 22,501 10,241 12,260 15,080 2,014 13,066
& m 17.820 6.143 11,677 13,930 1,762 12,168
F X W 22,183 11,828 10,355 12,885 2753 10,132
R F EH 3,602 2,398 1,204 1,747 596 1,151
= ¥ 7 2,280 1,169 1,111 1,619 332 1,287
H % 1,767 778 989 1,572 353 1,219
X H 2612 1,501 1,111 1,661 505 1,156
ko # 1,652 1,044 608 724 167 557
5 B # 769 354 415 455 151 304
= B # 3.263 1,762 1,501 1,332 157 1,175
A W & 4,076 2,622 1,454 1,904 493 1,411
X 2 B 8.713 5,781 2,932 3,869 1,592 2.277
t & Hr 4818 3.219 1,599 2,179 520 1,659
X 548 278 270 253 105 148
W\ 0 B 16.670 8,082 8,588 9.985 1,585 8,400
1= & )il By 14,299 11,227 3,072 4,840 1,890 2,950
Tt & Hr 5,638 3,089 2,549 4,228 870 3,358
= ) H 10,202 5,066 5,136 6.463 1,013 5.450
%0 Hr 8,038 5,709 2,329 3478 1,033 2,445
B R 4,134 2473 1,661 2,192 592 1,600
A & # 4,942 3,054 1,888 2,795 581 2214
2 % m 6.863 4,288 2575 3,069 561 2,508
5 + HT 17.100 9.486 7.614 10,026 2,294 7.732
X A H 7.310 5,549 1,761 3,562 1,194 2.368
= B # 1.479 739 740 851 206 645
B8 E 7.979 3.824 4155 5753 684 5.069
il 5t 272,152 89,707 182,445 220,732 24,158 196,574
BT A &t 138,754 83,492 55,262 74,557 17,474 57,083
& it 410,906 173,199 237,707 295,289 41,632 253,657
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5976 2,872 3104]% %0 T
343 127 2162 F T
436 208 28|k = ™

1,427 638 789|F8 E T
632 263 se9lt & T
723 324 399|8 & T
655 314 sp|lE £ W
486 253 033| L&/ KT

1,184 715 4698 5 + T
717 275 4|8 M
546 212 3|E X

68 33 35| £ HT
137 53 gal&E + #I Hy
131 69 g2| B % HT
107 59 48| H Hr

64 38 oeldt NIl #

56 25 3|E B M
133 56 77l= & #
140 67 73|A& W HET
154 73 gi|lX £
183 73 110l & HET

51 28 23| KX Il #
406 160 24|\ O HT
237 138 ooli= = Il HT
128 56 72| L & BT
220 86 1346 )1l HT
304 209 go|#& A HT
152 91 el & HT
227 97 1308 & #
157 71 ge|® ¥ I
466 186 280%™ 5 + HT
141 53 gg| X A H

61 26 3s|= E O
197 77 12012 ¥ HT

13,125 6,201 6,924|m &
3,920 1,824 2,006|BT # 3
17,045 8,025 9,020| & B
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